2006 6 30
10
4
2-1
W/C=50% C/W=2.0 28N/mm?  W/C=40% C/W=2.0 43N/mm?
C/W f=a+bC/W
28=a+20b 43=a+25b a=32 b=30
/W
f =32+ 30 (C/W)
40N/mm?
40 = 32 + 30 (C/W) CIW =24
1/2.4 = 41.6% 42%
41.6 42
2-3
10 1.2
f s =30x1.2=36
36=-195+30.0-C/W - C/W=185 ..W/C=0.54
w/C, =0.65
w/C, . =055
wW/C W/C =0.54
AE AE s/a
G = 20Mm W/C =055 2.80 80cm s/a=45 W =165 6.0
s/a W
2.80-.2.78 _(280-2.78) x0.5=-0.1
0.1
8-10 +(10-8)x1.2=+2.4
6-5 +(6-5)x0.7=+0.7 +(6-5)x3=+3
W/ 055-054 _wﬂz_o'z

A%=—O.1+ 0.7-02=+0.4 AW = 2.4+3=5.4%

S/ =45+04=454% W =165x (1+0.054) =174




174

C=—+-=322
0.54
=1000—%—ﬁ—50— 673
10 313

S=673x0.454x 2.62 = 801
G = 673x (1— 0.454) x 2.69 = 988

AE Ad =322x 2.5=3805cc
kg/m®
wi/C sa
(cm) w C F S G A
(mm) () () ()
20 10 54 5 454 | 174 322 — 801 988 0.805
2-4
5cm
s/a W
15,10 ~(15-10)x1.2=-6.0
AW = -6.0%
W =174x% (1-0.06) =164
C= ﬁ =304
0.4
a=1000—@—%—50= 689

S=689x0.454x2.62 =820
G =689x (1-0.454) x 2.69 =1012

AE Ad =304x25=760cc
kg/m®
w/C sa
(cm) W C F S G A
(mm) () () ()
20 10 54 5 454 164 304 — 820 1012 0.760




2-5

f s

f 26 =-19.5+30.0- g—360
174

f s =-19.5+ 30.0-£ =310

174x1.10

36.0-31.0
36.0

x100 =13.9%

139

2-7

W/C 180/383 0.470 47.0
766/2.57 298

951/2.67 356

298
298+ 356
180 383 766 951]

x100 = 45.6%

4.5
1.0 316 257 2.67

180+383+766+951 2280kg/m°

1000 - (




